
part numbers: 09163166 / 09163167 / 09163168 / 09163178



1/102005-12-07

GM Part No. Renault Part No. Nissan Part No. Car Model

9 163 166

9 163 178

9 163 167

9 163 168

H1L1

H2L1

H2L2

H2L3

77 11 221 421

77 11 225 017

77 11 221 422

77 11 221 423

KE7 38-00 QD F

KE7 38-00 QE E

KE7 38-00 QD G

KE7 38-00 QD H

Reference - rev B 
Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



2/102005-12-07

54 kg

1651 mm

1531 mm

1531 mm

2636 mm

1531 mm

2636 mm

3081 mm

3596 mm

53 kg

55 kg

71 kg

H1 H2
H1

2476 mm

H2
2720 mm

L1

L2

L3

Reference - rev B 

9 163 166 77 11 221 421 KE7 38-00 QD F H1L1

Car Mod.

H2L1

Car Mod.

9 163 178 77 11 225 017 KE7 38-00 QE E

9 163 167 77 11 221 422 KE7 38-00 QD G H2L2

Car Mod.

9 163 168 77 11 221 423 KE7 38-000 QD H H2L3

Car Mod.

Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



x12

x12

x12 x12

x12

x12 x12

x6

x6

x6

x6x12
x12

3/102005-12-07

6,4 x 12 x 1,6

8,4 x 16 x 1,6

M6 x 30 T30

ST 6,3 x 19  T30

M8 x 45

M6x206,4 x 18 x 1,7

C

J L

A
D

K

G

F

E

B

M
I

H

x12

x12

x12 x12

x12

x12

x12

x6

x6

x6

x6x12
x12

6,4 x 12 x 1,6

8,4 x 16 x 1,6

M6 x 30 T30
ST 6,3 x 19  T30

M8 x 45

M6x206,4 x 18 x 1,7

C

J L

A

D

K

G

F

E

B

M
I

H

Reference - rev B 

9 163 167 77 11 221 422 KE7 38-00 QD G H2L2

Car Mod.

9 163 166 77 11 221 421 KE7 38-00 QD F H1L1

H2L1

Car Mod.

9 163 178 77 11 225 017 KE7 38-00 QE E

Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



4/102005-12-07

T30

x16

x16

x16 x16

x16

x24 x16

x8

x8

x8

x8x16
x16

6,4 x 12 x 1,6

8,4 x 16 x 1,6

M6 x 30 T30ST 6,3 x 19  T30

M8 x 45

M6x206,4 x 18 x 1,7

C

J L

A D

K

G

F

E

B

M
I

H

Reference - rev B 

9 163 168 77 11 221 423 KE7 38-000 QD H H2L3

Car Mod.

10 mm

13 mm

Nm

Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



9 163 166 77 11 221 421 KE7 38-00 QD F H1L1

H2L1

Car Mod.

9 163 178 77 11 225 017 KE7 38-00 QE E

9 163 167 77 11 221 422 KE7 38-00 QD G H2L2

Car Mod.

9 163 168 77 11 221 423 KE7 38-000 QD H H2L3

Car Mod.

5/102005-12-07Reference - rev B 

1

Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



6/102005-12-07Reference - rev B  

2 3

4

5

H I

E

B C D

L M

J K

10 ± 1 Nm

Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



7/102005-12-07

9 163 166 77 11 221 421 KE7 38-00 QD F H1L1

H2L1
H2L2

Car Mod.

9 163 178 77 11 225 017 KE7 38-00 QE E

9 163 167 77 11 221 422 KE7 38-00 QD G

9 163 168 77 11 221 423 KE7 38-000 QD H

10 ± 1 Nm

6

A

Reference - rev B 

H2L3

Car Mod.

10 ± 1 Nm

A

Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



8/102005-12-07Reference - rev B 

7

8

F G

9 163 166 77 11 221 421 KE7 38-000 QD F H1L1

9 163 178 77 11 225 017 KE7 38-000 QE E H2L1

9 163 167 77 11 221 422 KE7 38-000 QD G H2L2

9 163 168 77 11 221 423 KE7 38-000 QD H H2L3

x6

x6

x6

x8

Car Mod.

Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



9/102005-12-07

10 ± 1 Nm

22 ± 1 Nm9 10

Reference - rev B 

T30
13 mm

1

3

3

5

1

6

4

2

5

7

2

4

6

8

Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178



10/102005-12-07

max 200 kg!

50 km 1000 km

Max km

Reference - rev B 
Sapa No. M700143-00

part numbers: 09163166 / 09163167 / 09163168 / 09163178




